
Plusrechnen (bis 5 000)

Aufgabe 1

1. 2 418 + 2 045 =   

2. 2 154 + 1 886 =   

3. 1 314 + 584 =   

4. 1 457 + 1 202 =   

5. 1 043 + 823 =   

6. 1 584 + 1 472 =   

7. 2 448 + 1 173 =   

8. 1 725 + 1 004 =   

9. 2 209 + 1 769 =   

10. 1 843 + 620 =   

Aufgabe 2

1. 2 241 + 2 091 =   

2. 2 403 + 652 =   

3. 2 436 + 2 246 =   

4. 2 394 + 1 577 =   

5. 1 184 + 977 =   

6. 1 068 + 827 =   

7. 2 002 + 1 200 =   

8. 1 638 + 1 140 =   

9. 1 411 + 562 =   

10. 2 109 + 1 690 =   

Aufgabe 3

1. 2 097 + 1 848 =   

2. 1 739 + 1 563 =   

3. 1 329 + 912 =   

4. 880 + 724 =   

5. 2 265 + 1 778 =   

6. 1 582 + 611 =   

7. 1 696 + 1 193 =   

8. 1 124 + 615 =   

9. 1 730 + 667 =   

10. 1 604 + 705 =   

Aufgabe 4

1. 2 032 + 1 009 =   

2. 2 442 + 878 =   

3. 2 052 + 1 926 =   

4. 1 311 + 929 =   

5. 1 827 + 759 =   

6. 2 112 + 1 692 =   

7. 2 279 + 1 048 =   

8. 2 367 + 1 522 =   

9. 2 497 + 2 239 =   

10. 1 715 + 903 =   
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Plusrechnen (bis 5 000)
| ANTWORTEN

Aufgabe 1

1. 2 418 + 2 045 =  4 463

2. 2 154 + 1 886 =  4 040

3. 1 314 + 584 =  1 898

4. 1 457 + 1 202 =  2 659

5. 1 043 + 823 =  1 866

6. 1 584 + 1 472 =  3 056

7. 2 448 + 1 173 =  3 621

8. 1 725 + 1 004 =  2 729

9. 2 209 + 1 769 =  3 978

10. 1 843 + 620 =  2 463

Aufgabe 2

1. 2 241 + 2 091 =  4 332

2. 2 403 + 652 =  3 055

3. 2 436 + 2 246 =  4 682

4. 2 394 + 1 577 =  3 971

5. 1 184 + 977 =  2 161

6. 1 068 + 827 =  1 895

7. 2 002 + 1 200 =  3 202

8. 1 638 + 1 140 =  2 778

9. 1 411 + 562 =  1 973

10. 2 109 + 1 690 =  3 799

Aufgabe 3

1. 2 097 + 1 848 =  3 945

2. 1 739 + 1 563 =  3 302

3. 1 329 + 912 =  2 241

4. 880 + 724 =  1 604

5. 2 265 + 1 778 =  4 043

6. 1 582 + 611 =  2 193

7. 1 696 + 1 193 =  2 889

8. 1 124 + 615 =  1 739

9. 1 730 + 667 =  2 397

10. 1 604 + 705 =  2 309

Aufgabe 4

1. 2 032 + 1 009 =  3 041

2. 2 442 + 878 =  3 320

3. 2 052 + 1 926 =  3 978

4. 1 311 + 929 =  2 240

5. 1 827 + 759 =  2 586

6. 2 112 + 1 692 =  3 804

7. 2 279 + 1 048 =  3 327

8. 2 367 + 1 522 =  3 889

9. 2 497 + 2 239 =  4 736

10. 1 715 + 903 =  2 618
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